CATERPILLAR SCULPTURE

®
commercial play systems

200143155

[1900023A—-S1
Sheet 1 of 2

SEE DETAIL 2

SEE DETAIL 2

Ro

TAIL TAIL
SEE DETAIL 1
503 [19 3/4'] 130 [5 1/8”]
| “+
T N
~
N fg)
L © _
M)
o = 2
< [l
2, r o
& +—=
’g‘
00
fe}
e -
‘ 794 [31 1/47]
|
EAD
HEAD SEE DETAIL 1 1261 [507]
FOOTING DETAIL
Dimensioned to center of TOP VIEW
plate for surface mount
RN /\((.
VR <\ N I\
- \

1074 [427]
—
/\

Finished VAN
Playground 1

\\Surche
Grade

SEE DETAIL 3 2B

8

Surface Mount Inground

NG SEE DETAIL 4

Finished
Playground
Surface

\ Grade

CATERPILLAR SCULPTURE
200200171

HDWR BAG F/CATERPILLAR
200142957

, AUTHORIZED BY:

ltem| Code Description

CATERPILLAR

2A 200142704 | SUPPORT SHORT F/CATERPILLAR SM UNP

28 200142703 | SUPPORT SHORT F/CATERPILLAR ING UNP

3B 200142701 | SUPPORT LONG F/CATERPILLAR ING UNP

1
1
SA 200142702 | SUPPORT LONG F/CATERPILLAR SM UNP
1
1

4 200142930 | ROD THREADED M8 X 100MM

200142931 | ROD THREADED M8 X 75MM

% //////Z/ / 21MAYO03

2
5 2
6 200002145 | BOLT M8 X 1.35 FEMALE 10.5 X 50MM 8
7 200002079 | WASHER FLAT M11 23 X 12 X 1.6MM 8
8 200001776 | ANCHOR CONCRETE WEDGE M10 X 1.5 X 100MM 8

Application

—Recommended for ages 2-5.

—A resilient ground covering is required under and
around all playevents.

—Cannot be installed under or above a deck.
—This component is an independent part and does
not attach to a structure (and must be mounted
outside of any use zones).

Installation Instructions

1. Prepare footings (refer to Details 3 and 4).

2. Carefully flip the Caterpillar on to its back and
attach Long and Short Support (items 2 and 3) to
the Caterpillar Body as shown in Details 1 and 2.

5. Complete footings and install resilient surfacing.




2001435155
, CATERPILLAR SCULPTURE 1900023A~S2
commercial play systems Sheet 2 of 2
W?R\ZED/BY: 21MAY03
22) ////@4 Lo
.
¢
\\
[} \!
>
TYP 4 PL | |
[} [}
Always place adequate ! !
Detail 1 Sagety Surqucmg umdert | |
e o L and around componen i i
| IERE
)
I I — | =
| 4° | 4 = x
[} [} © [®]
4 X | m
A >
Detail 2 ' '
TYP 2 PL | 4 |
1 | < A
A
]
[}
Y = 678 [ 26 3/4 7] ALWAYS |
X = POST DEPTH IN TO GROUND i
Y = RESILIENT SURFACING ‘ | ‘\
™— BRICK
9305 MM [127]

Detail 4
TYP 4 PL




